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Question 1:
(5 Points)

List six of the major steps in the database application lifecycle. Briefly describe two of them

●
Database planning
●
System definition
●
Requirements collection and analysis

●
Database design
●
Application design
●
DBMS selection (optional)

●
Prototyping (optional)
●
Implementation
●
Data conversion and loading

●
Testing
●
Operational maintenance

{You can briefly describe any two of the above}

Question 2:
(3 Points)

Answer either (a) or (b)
a) What is the major difference between conceptual, logical and physical database design stages?
In the conceptual design we concentrate on developing the database independent of any data model or any DBMS model.

In the Logical design we concentrate on mapping the conceptual design into a specific data model, e.g. relational or network, but independent of any DBMS model.

In the Physical design we concentrate on mapping the logical design into a specific DBMS, e.g. Oracle or DB2, with all the related physical issues.

b) What is a transaction? List two of its types.
A transaction is an action, or a series of actions carried out by a single user or an application program, which access or change the contents of the database.

It has three types:

1. Retrieval Transactions: Which are used to retrieve data to display or report them. 

2. Update Transactions: Which are used to update (insert, delete or modify) data in the database.

3. Mixed Transactions: Which involve both types of transactions. 

Question 3:
(4 Points)

List four of the major steps of the database conceptual design process. Briefly describe two of them

	●
Identify entity types
	●
Identify relationship types

	●
Identify and associate attributes with entity or relationship types
	●
Determine attribute domains

	●
Determine candidate and primary key attributes
	●
Specialize/generalize entity types (optional)

	●
Draw Entity–Relationship diagram
	●
Review Local Conceptual Data Model with User


Question 4:
(3 Points)

Answer either (a) or (b)
a) What is the major information that needs to be clarified for identifying entity/relationship attributes?
Is the attribute simple or composite? Single or multi-valued? Derived or actual? Etc.

b) List three of the criteria that can be used to select a primary key out of more than one candidate keys.
●
A candidate key with minimal set of attributes
●
A candidate key that is easiest to use by users

●
A candidate key that is likely to have its value changed 










